versione 0
Equazioni differenziali — 0

Simplify[DSolve[{Sy' “[x] +2y ' [x] +y[x] = 17 Sin[g] , y[0] =0, y'[0] = o},

yix1, x]]
2x b4

Hy[x] 5 16e*/5 COS[Z?X} ~16 COS[S} 13 e%/5 Sin[?} —4Sin{;]}}

Funzioni di due variabili, punti critici— 0

Minimo, massimodi f (x, y) =x2+y>-4x
inA = {(x,y); 1<sy=<e*, xx<3}
assai facile con linee di livello (circonferenze)

Integrale doppio — 0

3

£lx_,y_]:=e"y’-1;

Log[y]
Simplify[{f , L flx, vl dx,

Log[Ly
fj:;g[;]f[x, vl dxdy}]
v rew,a)
Numero complesso — 0
[1esv3)”

Expand[—]
1-iv3

1024 1024 i3

1-1vV/3  1-iv3

Print[{Re[%], Im[%]}]

(1024, 0}

Matrice, autovalori... -0
1 o0 -vV3

0 3 0
-¥v3 0 -1

{3, -2, 23}

; Eigenvalues[a]

Eigenvectors[a]

{10, 1, 03, {jf 0, 1}, {_\/? 0, 1}}

3

vl =%[[1]]; v2 =%[[2]]; v3 =%[[3]];



2| ch.ind.2014.01.24.nb

vl v2 v3
m = Transpose [{

: , M
Norm[vl] Norm[v2] Norm[v3]
MatrixForm[m]

ol_ﬂ
2 2
1 0 0
o Y3 o1
2 2

3 0 0
0 -2 0
0 0 2

versione 1
Equazioni differenziali — 1

Simplify[DSolve[{y''[x] +2y'[x] +5y[x] == 34Cos[2x], y[0] =3, y'[0] == -1},
y[x], x]]

({y[X] e * ((1+2e*) Cos[2x] +8 (-1+e¥)Sin[2x])}}
Funzioni di due variabili, punti critici — 1
Minimo, massimodi f (x, y) =x2+y2+4x

inA={(x,y); 1l<sy<e™, x2-3}
assai facile con linee di livello (circonferenze)

Integrale doppio — 1

3

flx_, y_]:=e™\y’-1;
-Log[%

Simplify[{f f[x, y] dx,
- Log[y]

Y

3 -Log[z]
J;J:Log[ﬂ f[x, y] dx dly}]
I

Numero complesso — 1

(1'1 + '\/3_)5
In[3]:= Expand[—]
-1+ ‘\/?
16 i 163
Out[3]= -
—1'1+\/3_ —]i+\/?

nf4j= Print[{Re[%], Im[%]}]

{-16, 0}

Matrice, autovalori... — 1



-2 0 -2V3
a-= 0 1 (] ; Eigenvalues|[a]
-2V3 o0 2
{-4, 4, 1}

Eigenvectors[a]
R )

V3

vl=%[[1]1]1; v2 =%[[2]]; v3 =%[[3]];

vl v2 v3

m = TranspOSe[{Norm[vll " Norm[v2]  Norm[v3] }],

MatrixForm[m]

V3

N = o~|
w‘ﬁ ON|>—-
o = o

MatrixForm[Expand[Transpose[m].a.m]]

o
o B O
= O O

ch.ind.2014.01.24.nb
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